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1. |Find out the expression of fault current when power system , is subjected to a) 10 [CO4 | L2

LG fault through a fault impedance with necessary diagrams.
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Derive Power angle equation of synchronous machine for salient with necessary
graph.
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d) transient stability limit.

Define a) steady state stability, b) transient stability, c) steady state stability limit,
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Derive equal area criteria, and find its application with respect to following:
sudden change in input.
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Discuss about how to improve transient stability.
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5b  |Write short notes on series type of fault.
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A synchronous motor is receiving 10MW of power at 0.8pf lag at 6kV. An LG

Find the fault current. The ratings of the generator, motor and the transformer
areas under:

Generator:20 MVA, 11kV, X1=0.2 pu, X2=0.1 pu, X0=0.1 pu
Transformer T1: 18MVA, 11.5Y-34.5YkV, X=0.1 pu
Transmission Line:X1=X2=5Q, X0=10Q

Transformer T2: 15MVA, 6.9Y-34.5Y kV, X=0.1 pu

Motor: 1I5MVA, 6.9kV, X1=0.2 pu, X2=X0=0.1 pu

fault takes place at the middle point of the transmission line as shown in figure.
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A three phase generator with an open circuit voltage of 400V is subjected to an

72=2Q, Z0=j1Q

LG fault through a fault impedance of j2Q. Determine the fault current if Z1=j4Q,
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